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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / E'ngwgﬁ%
faeR Y fa=ivar Fafafed 4 9 59 stews vt &

1. Distractibility / Fe¥cfaaferet
2. Hyperactivity / sifarafdsaran
3. Hallucinations / AfyH

4, Impulsivity / B ]
Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&‘Iﬂﬁﬁﬁ QT&‘I'UTW'J?[ AR Wqﬁﬁ 3R
I - X : 1 )i [ A 2 1| A

1. Syllabus / UT6Y-fdaRur
2. Curriculum /tI'IT:)'TFaI'EI‘f
3. Assessment / 3{ihe

4. Exam system / ORI&T ToTTeR

Correct Answer :-

e Curriculum /tl'I_o'ﬂ?l'Eﬁ

3) Piaget believed that language develops in a child as a result of: / s sraFAT YT i

T § YTy T e, e & uRumaasu gar g:

1. Cognitive development/{-ik‘lchOb YR
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2. Egocentric development / 31Id-la.°lfad EEQRS

3. Behavioural development / UdgRIHD iEIGbIH

4, Environmental development /EITITEITUﬂ'qﬁW

Correct Answer :-

. Cognitive development / TTHD [dHTH

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A3} aga A 8 1 98 T SRTYRYT WRaHTeaH Td$t § afde ag Rien A Jarver® sie
TE1 urell 8 1 A8 & forw w1 <t fRreror fafty siftres arvue R

1. Excursions /YHUT T 3MHIG

2. Brainstorming methods /mﬁﬁf

3. Grade acceleration /ﬁg‘q@

4, Individualized instructions / 3&%%&@

Correct Answer :-

» Excursions /'J;I'J:I'UT?ZIT\3-IT1:h_c‘r

5) The occurrence of is an indication of stagnation in the learning process. /

@1 T, ReT B Ul § fRRA1 31 e W 2
1. Motivation / 3THUROT

2. Plateau / FRRI& (wieh)

3. Progression / U¥TIdl

4. Curve / dsh (Elﬁ)

Correct Answer :-

« Plateau / RRi®H (céa)

6) What is the main objective of teaching in inclusive classrooms? / A FHemaft ﬁ'q_dﬁ
P YT IE,]T T 87

1. Preparing students for job/ EFIEAGICRIED ferg JIR HAT

2. Preparing students to pass the examination / B B TS U B &b 1%112 TR BT
3. Developing thinking power of students / BHE| B Ria Wfad &1 faw™ BT

4, Providing notes to students / BT I AICH UG DHRAT
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Correct Answer :-

« Developing thinking power of students / S ol fide fad &1 faerg s

7) Development does not include changes that happen due to: / fawr o 9 ufvads aftrfea Tal
B it g & SRS ©

1. Tllness / STHRT
2. Learning / 3{ORTH
3. Maturation / URU&dl

4. Aging / delUl

Correct Answer :-

o Tllness / STHRT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATaIdT §9TH T4 3T Ieg” (TS HTH 8 2H TS S13¢) & TRSH & A IHTATNG IvT &
TqE UCH 3 -

1. Primary caregiver / PINB A HUED
2. Family / URaR

3. Parents / Ardr-far

4. Teachers and peers / e 3R et

Correct Answer :-

« Parents / ATaI-fUar

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / STd Ycb I pelgl ?ﬁ:"a?n
g, a1 TP H1d1-fUar I & P 9 era o7 3 39 9d1d € {6 e g & forg 39
S 81 FeT | 98 fd UPR &1 UTe=-u19vl 32

1. Behaviourist / aqm
2. Authoritarian / Wm
3. Authoritative / 3BT G

4, Permissive / W

Correct Answer :-

« Authoritative / TIBING
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10) Children with Autism are: / LSRG (&r‘fﬁ\—rcr) q Tﬂ'%_cf = 'Eﬂ?f %

1. Unable to make eye contact with others. / m & Y 3@ T U e o s
2. Unable to move about comfortably. / 3IRTH 3 U}Ie[ﬁ g

3. Unable to fall asleep. / g o o s

4., Unable to follow instructions. / o o1 ure B | srawy

Correct Answer :-

« Unable to make eye contact with others. / QFR-I' & Iy 31T Y TUS B3 H 3rguef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / SITFTEH® [AH NI & AT P SR, T axgl # WL FIP
I YT R B |

1. formal operational stage/ 3R TihaTeHe 3T
2. sensorimotor stage / HERTETER =T
3. concrete operational stage / Hﬁm STARYT

4, preoperational stage / qﬁ TihaTHS ST

Correct Answer :-
« sensorimotor stage / FERIHICY AR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaerar & gvma #

U B BT TH a3 1] a=) D! -1 Dt Srgafa ST 8:
1. Win over each other/ W—@%W\?ﬂﬁgﬁﬁmaﬁ

2. Operate in separate groups/ S{¢-3{¢IT \‘clﬁl@l.ﬁ HTH T DI

3. Start small communities of their own/30 W8 & BIC Hﬂdlq\f Eal RIES A B
4. Socialize with each other/ Uh-GHX b HIY Hefoldl ST bl

Correct Answer :-

« Socialize with each other/ TH-gaR & I HeSlId dGH B}

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ mmﬁa%wﬁwmﬁmﬁw%ﬁaﬂ% SR, Uh
FeHT & Y v fa=iy urepfoes wiifrar gay Haw e & g Ue | uifhar = o
B Fuafafa 3 @ 19 91 Seesvr 39 Riid & Igy edarg?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ CEINRE]

Tl IO B T GBI BT Hhd THIA & 3R I Wi & WY s 2
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2. Children maintaining silence when the teacher raises her hand/ ST R By 3oldl % AT ﬂ'ﬂiﬁ
TN G B

3. Children expecting to receive medals by the end of a race/ EaTS' & 3 IP UGH U B Dl SHIG

G 91 = |

4. Children getting star stickers for the right answers asked in class./ P &I | 11@' Y &! SR & [0 ©R
ReehR Ut - a1l 9= |

Correct Answer :-

» Children responding to the bell at school to indicate recess and associating it to happiness./ faemaa o

Yl IO B T GBI BT Udhd THIA & 3R I R & WY wsd g

14) According to Cognitivism, learning is defined as a change in the learners’

TIMTHDAIG & AR, AW &I Rremffds ﬁw%mﬁuﬁu@am
STar gl

1. Behaviour / deRR

2. Schemata/ Hded @Iﬂa)
3. Mindset / HFRl

4, Morals /?ﬂ%@

Correct Answer :-

« Schemata/ Hdq WI’CT)

15) According to Bingham, what does an aptitude test disclose? /faam & SJIR, GIﬁ-Iqﬁ'f Teor
W T 9T AT 82

1. The tendencies and capacities inherent in the individual's original constitution./ fdd & Hel ¥dHId T fFfed

&S 3R yafoat
2. The achievement in different dispositions./ faftra m TR H Sudied
3. The readiness to acquire proficiency and exercise ability./ T 3R 31T R I daRdT

4. The strength of the different dispositions./ ICIRP G‘HGT&W TGl Pt qrH

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ TIIUTAT 3R 31T R D1 TR |

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / TP T ] BIaRT | ST FRRGTAT 74T YT1 3(d, g G A9} & S¥a1 8§ 1 IgT i
1 3R Ryegia @y 82

1. Reinforcement / QT‘ITQLC'FI

2. Spontaneous recovery / ¥dd: H:R'IEIT'T:[

Page- 5



3. Stimulus generalization / Gél% HHRIHR0T
4, Stimulus discrimination / Bﬂw ICREHERUI

Correct Answer :-

« Stimulus generalization / S&1U® ATHIHRU]

17) Carl Jung’s approach for a personality assessment is:/ eI fiwe- b Y BTl GIT BT

B0 R:

1. Judging /ﬁ'Uf{ﬁ

2. Perception / ﬂaﬁ
3. Structured / TRFAT
4, Projective / gad

Correct Answer :-

« Projective /T

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / Sifew Tu T fHuifva aer & S=erd Ye! &t g1 & forg
frfofEd # @ foa 2re o1 Iua fHar s 82

1. Arousal / 3ol (TRT3vIcT)

2. Drives / 316 (1354

3. Instincts / GAUGHAI (SRETT)
4, Incentives / UAIHT (E:I@ﬁa‘:[)

Correct Answer :-

« Instincts/ AAUGRAN (3ReT)

19) Which of the following is not a part of the process of memory? / Ffofafead s an Fjﬁ[ 4|
fshaT $1 e =81 72

1. Storing information / STFPRT UG PRI
2. Encoding information / SFHRI BT HehdlHR0I HRAT

3. Acting on information / ¥ UX B HRAT

4, Retrieving information / SIFBRT U HRAT

Correct Answer :-

« Acting on information / {A-T U BT BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HITHTH® faora ot ot
IU-3TRIT WY Il &, ST Teh =T U1 TR aT ¥} Higar ¢ & e emg-ie )
i Fe T T AT 82

1. Coordination of secondary schemes / AT SIS BT 9H-ag
2. Primary circular reactions / WTITHd ddip} gidfearg
3. Secondary circular reactions / FTEITHE ddlbR gfafearg

4. Tertiary circular reactions / Cj_dnlqd? CHIEIN PIGIERIY

Correct Answer :-

« Coordination of secondary schemes / ATeaf e AIoTs] &l 9H-ag

21) What age is a child the most impressionable? / foa ST BT a1 TIY SATGT THTARITe gidT %?
1. 14 to 18 years / 14 9 18 TY

2. 2 to 8 years /23 8ay

3.9to 12 years /9 ¥ 12 @Y

4.6t 14 years /6 9 14 TY

Correct Answer :-

« 6to 14years/6® 14 Y

22) CCEis undertaken ./ ?ﬂ?ﬂ% _ OIR™ g smar %I
1. Four times a year / Udh T A IR AR

2. Throughout the year / CLRICE:|

3. Periodically / JHI-JHI TR

4, Twice ayear/wa'ﬁfﬁaw

Correct Answer :-

o Throughout the year / CLR R

23) Questioning in the classroom : / DPET H Uy BT
1. Develops inactivity / fAfepadn fosfd Hxar % I
2. Clarifies subject matter / fawg a¥d DI WP Fl % |
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3. Creates indiscipline / 31'152||{'I"|‘6‘\|"|d| U] Bl %l
4. Is a waste oftime/ﬂmﬁaaﬁﬁ%l

Correct Answer :-

« Clarifies subject matter / fawg a¥d &l LY Hdl % |

24) Needs which grow stronger when unsatisfied are called: / SIRIJC TH W Holdd HEEIGI
STILIPHANE = wgardl g

1. Deficiency needs / HH T

2. Primary needs / Tl S=d

3. Growth needs / Q'@ &

4. Being needs / 3TaRIH SREXA

Correct Answer :-

o Deficiency needs / FHH TxA

25) Who proposed the theory of observational learning? / nerotta Sifermm &1 Rigia fraq
U forar?

1. Ivan Pavlov / 2dI+ LICIG
2. B.F. Skinner / aﬁw PR
3. Aaron Beck / IR 9

4. Albert Bandura / SGRI

Correct Answer :-

« Albert Bandura / SGQX]

26) A scoring guide use to evaluate the quality of students is called: | ST DY
T[UTET BT Yedidh T A & oI SIAHTA BT T ardlt TP WhIT M5S f wgardt
&

1. Checklist / dhfere
2. Rubrics / &ieidd
3, Rating scales / ¢ ¥heq

4. Inventories / 37dfd

Correct Answer :-
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« Inventories / 371%{[?}[

27) Both pleasant and unpleasant feelings are associated with L/ gYq

3R g S HraATd A IS BT B
1. Double approach — avoidance conflict / fg =PI - gRegR gy
2. Avoidance - avoidance conflict / tlﬁgl? - qﬁ%’l? Ty

3. Approach — approach conflict / BECANEEEE RSN
4. Approach — avoidance conflict / @I - ORER Tuy

Correct Answer :-

« Approach — avoidance conflict / ?W’UT - qﬁ_éﬁ gy

28) Authentic Assessment is a form of assessment in which: / YTHTOTS e Sfihad
BT TP U ¢ o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / BTl D dRAfAD gﬁm%aﬁﬁmﬁ%ﬁaﬁrw%
S AT T 3R DI P A1l ST &1 yelRid s §

2. Students results are compared to hypothetical average student/@‘lﬁ%qﬁf’ﬂﬁfﬁw
HTMD ST S Y B ol &

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ BF & UeRH & gd Fuid Aamdst a1 dem & AFe! & Te Hid I & udid A S g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction / TRI&I BTEI B HfGaTd YT, HHSITNAT, T 3R 4T B DI T uga
RefRd dare

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / BTl D IRATAD W%Wﬁﬁ%ﬁqua
S SIS 1 3R DI & e SIguT &l UeRid #ad &

29) CANCELLED
Classical gestalt theory was put forth by: / FARIPd Nelee fagia 9 grRT Udd fooam war u:

1. Thorndike | UTHSTSH
2. Kohler / PIgTR
3. Piaget / Tt
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4, Pavlov / UTddd

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

émﬁﬁﬁq—wwﬁmm%mﬁaﬁﬁmaﬁvmaﬁumm
?

1. Parental education background / HTT-fUdT & TR1&T Bt qg’li&l

2. Physical strength of child / T Bl ARG qGI_Gj\T‘ﬂ

3. Teachers contribution in learning process / ST Ufehar § el &1 arTeq
4. Social Influence on child's learning / T & SHH W IS YU

Correct Answer :-

« Teachers contribution in learning process / ST ufgsar # ﬁTW Al f”‘lal:i

Topic:- General Sanskrit(L1GS)

1) s
dGRleG & ulg: h: ?
) ECW
dlg |
_ag |
are,_ |
4,

2

) N N
IEIETH cITT Hiewdesde Hed |
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31T 3EAH |
1.
zmﬁamﬁ|
31T 3T |
3.

4mﬁﬁm|

Correct Answer :-

T I IAAFNLAA

1

AT T AT A |

8 31T 9 I 37 & 37 97 31 L 37 A |

3.

8T 3 of T T |
4,
Correct Answer :-

HMIAINANTIAIANA N

4)

AThic: ScIET Hiwt: &: ?

qauigre: |

1.
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) . .
2Ry¢ sfd TEAT Ueq: Tol@d |
aucq:rulalgjrd‘iqﬁoﬂﬁ%lﬁ: |

ITSTUFARG AP TIRIARITH |

5

1

2

TSI ARIG AN PIATI I, |

3
3TSTUATRIG ARl TG I ITH |
4,

Correct Answer :-

STSTUZARIG AR A ITTRITH |
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chddo: |
3, ©

hddd:
a4, © |

Correct Answer :-

" scareEar ’Bf & sfea 2
qusieh: |

1. <

_ STINTETraT: |
3 : |

\ hlRAY: |

Correct Answer :-

AT |

8)

HOUCTH Usaed 37: &t ?

HoHdhcas |

HAoLdliAcas |

; UoUTdehcdH |

HOAEdcUH |
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Correct Answer :-

AOEAIHCTH |

9

) foes
3ST: QAGEY qIAUG T ?

2.
fasoT: |
3. 2
ITallelel: |
4,

2
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Y rsafiufy s asd e |
) VESGEIEEI T
) SECNERI
| Teanfaerfd: |

qsaiaeria: |
4,
Correct Answer :-

[T ‘QTﬁ-T: |

g qeedn a1 fqefad: wRIead ?
) aaeft |

U5 |

) AEGIEIN

4 qJarar |

Correct Answer :-

13)

hid ohlel: died ?
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, |

Correct Answer :-

Correct Answer :-

15)

GaTed Scuey faargarey fha ?

1 feem 3ea |
2 feer: 3ed |
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iGeh 3fed |

41%?%3%—&1

Correct Answer :-

16)

dd A - 3T Aice Hed |

SECIEE M

1

doeHHAH |
2. -

_ AT |

GCIGIEC

Correct Answer :-

17)

Jeed 5caey Afavcarered foha 7
A

, doadlH |

.W |

, doG |
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Correct Answer :-

_ afeesad |

18)

3 oIY UcddTcHS: h: 7
1%{% |

y qAT |
; dlcdl |

TFIFE |
4,

Correct Answer :-

19) =

[Holld: 5fd UgET HA®T fohe ?
 foemr
, e
< o |
| oo |

Correct Answer :-
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2

0) N
U7 eTdl: Fedl Ucdd & {ha ?

I |
y UlcdT |
Odr |
, dredT |

Correct Answer :-

 Yfedr |

21)
i ace: hEdmn: PEE ?

dqIATSHhET |

1

CIRE L
)

2.

JTHACIET |

3

afdseeT |

4

Correct Answer :-

afasaET |
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HEATHIH |
. J -

2

y aliaﬂ I

AToolchla{d |
a4, <2 7

Correct Answer :-

HcdATHIET: |

4

Correct Answer :-

HcdATHIET: |

* v.4g sfa guer a1y @ |

“iUC,L{:-tHQ'I%L‘d{H CAdigelH |

1.

YCURIGCATHTIGH |

2.
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YCUARIGCAtH TG H |

3.

ScHo ?I%rd'{{‘lbdqlqﬁd-lﬁ_ |

4.

Correct Answer :-

YU ARIGeAtH G H |

ATdar &9 |

4

Correct Answer :-

ATgar #1d |

26)

-l SNC-3caAYey -SgdaAey foha] ?
J e
3@t |
1.

3AEd |
2. 2

3. |
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4, li l‘ l
Correct Answer :-
STHIH |

27)

O 3c0eg qdug e ?
3T |

1.

1A |

2.

& |
_ )

3

Hod |
_ -

4

Correct Answer :-
J&d |
. e

geelcTdch hedTge: |
o -

1, c |

| ACTHERISTET |

3uﬁud+a|

4aﬂaﬁﬂ+u l

Correct Answer :-
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T |
AETH |
) 3cda |

Correct Answer :-

TUH |
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Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, get out of this fix means:
1. Come out of a cage

2. Come out of a bond

3. Come out of a fixed mind set

4, Come out of a difficult situation

Correct Answer :-

« Come out of a difficult situation

2) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
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and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, quandary means:

1. Happy

2. Confused
3. Angry

4, Sad

Correct Answer :-

e Confused

3) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn’t
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

Why did Athena decide to challenge Poseidon?
1. She understood the dilemma of the villagers

2. She wanted to snatch the trident from Poseidon
3. She wanted to rule the village

4, She wanted to prove her strength

Correct Answer :-

¢ She understood the dilemma of the villagers

4) Read the passage carefully and answer the question given below:

Page- 25



This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, the phrase flung his trident against the mountain means:
1. Threw the Trident at the mountain

2. Stroked his trident against the mountain

3. Fixed the trident on the mountain

4, Knocked the mountain with the trident

Correct Answer :-

¢ Threw the Trident at the mountain

5) Read the poem carefully and answer the question given below:
The moon

Shadowed by greed,

Eclipsed by corruption,

The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn
Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.

Page- 26



Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

Curiosity and grace have been compared to
1. flood water

2. darkness

3. moon

4, stars

Correct Answer :-

e stars

6) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.
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At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

“Shadowed"” in the first line means:
1. sadness

2. followed by

3. covered by

4, darkened with

Correct Answer :-

« covered by

7) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.
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Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

”n

“The moon of honesty awaits her turn”... The figure of speech used is
1. Metaphor
2. Personification

3. Alliteration

4. Transferred epithet

Correct Answer :-

o Personification

8) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze

Is guilty, soon makes amends
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AND the moon shines again

In its rightful place...

The moon is compared to

1. attitudes in human beings
2. honesty in human beings
3. values in human beings

4. curiosity in human beings

Correct Answer :-
» attitudes in human beings

9) Read the sentence carefully and choose the option that has an error in it:

Last year our overall sales figures fell by 18%, all the same, the company suffered a major
setback.

1. Last year our overall sales figures fell by 18%,
2. the company suffered
3. all the same,

4, a major setback.

Correct Answer :-

+ all the same,

10) Fill in the blank with the correct option in the given sentence:
He was instrument-- in bringing the first ever indigenous ship to India.
1. --ed

2. --ally

3. --ation

4, --al

Correct Answer :-

o --al

11) Fill in the blank with the most appropriate preposition in the given sentence.
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The mechanicis ___ the car.
1. over

2. by

3. under

4, below

Correct Answer :-
e under

12) Choose the correct option to fill in the blank in the given sentence:

Mr. Khan gave us a --test before the final examination to check our learning skills.
1. post--

2. anti--

3. counter--

4. pre--

Correct Answer :-

13) Fill in the blank with the correct option in the given sentence:

Large factories _____ employ workers for night shifts.
1. routinely

2. routine

3. routiningly

4, rotation

Correct Answer :-

» routinely

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

When the Queen she she wanted to rest.
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1. is finished eating, declared
2. has finished eating, is declaring
3. has finished eaten, declared

4, had finished eating, declared

Correct Answer :-
« had finished eating, declared

15) Choose the right tag:

Yellow is your favourite colour, ?
1. isn't it

2.is it

3. hasn't it

4. doesn't it

Correct Answer :-
e isn't it

16) Choose the option that substitutes the given phrase appropriately.

A qualified accountant who inspects the accounting records
1. Auditor

2. Clerk

3. Statistician

4. Surveyor

Correct Answer :-
e Auditor

17) Change the given statement to indirect speech.
He said, “"These are my pencils.”
1. He said that those are his pencils.
2. He said that these are his pencils.

3. He said that those were his pencils.
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4. He said that these were his pencils.

Correct Answer :-

» He said that those were his pencils.

18) Which of the following options best combines the given two sentences?

You will get good marks. You work hard.
1. Working hard, you will get good marks.
2. You work hard, you get good marks.

3. You will get good marks working hard.

4, You will get good marks if you work hard.

Correct Answer :-

¢ You will get good marks if you work hard.

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Our soldiers are known for their bravery.

1. Snobbism
2. Humility
3. Cowardice

4. Gallantry

Correct Answer :-
o Cowardice

20) Choose the appropriate prepositions for the given sentence:

I was depressed when my higher authorities turned my project scrutinizing it.
1. down, without

2. towards, by

3. into, before

4, around, after

Correct Answer :-

« down, without
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21) Choose the appropriate conjunction for the given sentence:

Those rulers who believed they were invincible set out to conquer the world were clearly
power hungry.

1. and
2. as
3. but

4, because

Correct Answer :-
e and

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Since childhood, he has been liked by everyone as he is very amiable.
1. Since childhood, everyone had liked him as he is very amiable.

2. Since childhood, everyone has been liked by him as he is very amiable.

3. Since childhood, everyone liked him as he is very amiable.

4. Since childhood, everyone has liked him as he is very amiable.

Correct Answer :-

« Since childhood, everyone has liked him as he is very amiable.

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Art schools sponsor trips to interesting parts of the world.

1. Donate
2. Encourage
3. Support

4, Educate

Correct Answer :-

» Support

24) Choose appropriate articles for the given sentence:
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My brother plans to livein ___hotelon____ outskirts of city.
1. The, a, the

2. The, a, no article required

3. No article required, the, a

4, a, the, the

Correct Answer :-

e 3, the, the

25) Choose the best option to complete the given sentence.

The two boys were fighting with __ when mother told ___ to behave ____ .
1. each other, them, themselves

2. me, you, myself

3. all, us, ourselves

4. us, them, himself

Correct Answer :-

« each other, them, themselves

26) Choose an appropriate modal for the given sentence:

Rajni need the money to pay the fees tomorrow.

1. should
2. will
3. can

4, could

Correct Answer :-

o will

27) Choose the most appropriate determiner in the given sentence.

There were chairs in the auditorium.
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1. empty
2. colourful
3. wooden

4. seventy

Correct Answer :-

e seventy

28) Choose the option that best explains the highlighted expression:
I could finish the report by Tuesday at a push.

1. something is possible if nothing goes wrong

2. something is possible but only with some difficulty

3. something is possible if someone pushes

4, something is possible if someone offers help

Correct Answer :-
« something is possible but only with some difficulty

29) Choose the option that best explains the highlighted expression:
Parents who don't have control over their children have a lot to answer for.
1. are irresponsible

2. have a lot of answers

3. have to answer many questions

4, are responsible for a lot of bad things

Correct Answer :-
« are responsible for a lot of bad things

30) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, “The sun rises in the east.”

1. The teacher said the sun rose in the east.

2. The teacher said the sun will rise in the east.

3. The teacher said that the sun will rises in the east.

4. The teacher said that the sun rises in the east.

Page- 36



Correct Answer :-
¢ The teacher said that the sun rises in the east.

Topic:- Science (SCI)

1)
Find = v and z representing the number of moles of the reactants and products in the skeletal

equation given below: f
A feU aU gEq A gEEeT # fHeNS HR Scurl & ArEsuEt S awdr @

yfafafce st aer x. v3iR z3a &3
FeaO3 + xCO 2 vFe +zC0On

l.x=1, y=2& z=1
2.x=3,y=2 & z=3
3.x=2,y=3,&z=2
4.x=4,y=3 & z=4

Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /
gfe eaf a1 U ureny & wATd g, °t o gian 82
1. The particles of the medium move perpendicular to the direction of propagation of the wave./

HIeOH & HUT, a3 &b UIR &1 G20 & daad RIFidRd gid &

2. The particles of the medium remain in the state of rest./

HIZH & HUT fayTaEaR & 36 5

3. The particles of the medium make to and fro motion about their mean position./
HILH & HUI, 37! H1ed U & GHIT SeRILR- TRt 81 51

4. The particles of the medium are also propagated. /
e % BT o TR B B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HIETH & HUT, ST A1ed RUfT & T 3eRIR- faefie 8 3
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3) What are the common fishes selected for pond culture systems? /
aTaTe Aa e yonferl & fore aafea o 15 AT Au il SiF-wl 82
1. Sharks and rays/Qﬂéf G'ﬁ?i

2. Sardines and mackerals / %IIITSP'-I 33? aabiﬂ

3. Mullets, bhetki and pearl spots/@fﬁﬁ, Yoo 3R Ud Wie

4. Catlas, rohu, mrigals, common carps and grass carps / ®cdl, ﬂ'g’, HITcd, "THE HTd 3R U

H1Y

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / ®cdl, ﬁTg’, HiTd, JHEF B 3R I

4) The phenomenon responsible for the twinkling of star is: /

IRI @t feufenrge & forg Swerh ge &:
1. Dispersion and reflection / UdIR GhT LNldc‘H
2. Reflection / TRTAT

3. Atmospheric refraction /fﬂ'ﬂ'q@»?ﬁq 3gac

4. Dispersion / UIR

Correct Answer :-

» Atmospheric refraction / dlgl-iSﬂnltl 3{gac

5) Which one of the following diseases is almost eradicated from our country? /

fFafafEa 3 fora S &) gur 331 A any aw R fear mar g2
1. Dengue / ST

2. Malaria / FHIRAT

3. Encephalitis / ARTSH QMY

4. Poliomyelitis / TIferal

Correct Answer :-

. Poliomyelitis/tm%ﬂff
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ot 9 o THige B H SIRT HTYT ST Jhel
1. volume / 3

2. Temperature / dIUHIA

3. Size / S[PR

4, Density / YUdcd

Correct Answer :-

o Temperature / dTUHIT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

Te Ygam & e 9 gl T 58 €1 S Bt st ¥
1.0.5s

2.25

3.1s

4,0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 fHUT So0HTH $1 TP FIPM, 10 HievAP S F U T AT 5 Qe F e ve afew
TdE & JHIR Mz 81 3T FHer g1 Ifed @R g:

1. 0.5 m/s?
2.2 m/s?
3. 0 m/s?
4,50 m/s2

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that of

Page- 39



=1 feT e faeul ° | |3t fawed gAH HU= D Yol H:
yard 9 8 ol
1. occupies space and has a definite mass. /

Y IRAT & 3R 1 T Ay gom = g 81

2. occupies space but has no definite mass. /

T ORI & Afb 291 BIs YT goga= T8 g1 gl

3. exists as a solid with a definite mass. /

U M So0m™ & 1Y Uh 319 & =0 & Alolg gl gl
4, has a definite mass and a definite shape. /

o YT goaa td Ue g PR BT |

Correct Answer :-

« occupies space and has a definite mass. /

RI IRAT & 3R g1 tes Afdd goga= gl 81

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & TH faeaas, Forad a1t Y 31 & 319 ST 311§ I geM auT fiawaq &1 Hia
TN FEH 91 & fore Igert 811 arelt SUYgad UTg &1 Ta- B |

1. Silver. / EﬁTﬂ
2. Gold. / I
3. Mercury. / UIRT
4, Zing. / Sl

Correct Answer :-

o Zinc./ Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR 9Te T B U7 St S A St & 9IS § g Sl Fifb:

1. As area of contact reduces force increases / JU® &7 HH HEREG] dedl %I

2. As area of contact reduces force decreases / W a_?f DH @ﬁ I 90 HH Eﬂ?ﬂ %I

3. As the area of contact reduces the pressure reduces / F AT HH B T E HH gIdl %I
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4. As the area of contact reduces the pressure increases / T¥U® &7 $H 8 ¥ I d¢dl g

Correct Answer :-

» As the area of contact reduces the pressure increases / TUs &F HH gH I a1 Jedl gl

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

A YR & 1Y TP TP IS T dR & 419 1 A9 & fore SuahT § ad o1 )
Frafafea ST 3ar 81 = arue HfEw = o fordt oik g wue Af$n = 52 @s1 fear
w%ﬁ%g'@WW1ﬁ1ﬁ,%3Wa? 100 TSI & IFY 8 | SWIed YT A dR
PTA&:

1.0.0052 cm / 0.0052 JHT
2.0.052 cm / 0.052 &
3.0.26 cm / 0.26 T
4.0.52 cm / 0.52 T

Correct Answer :-

. 0.052 cm/0.052 9t

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

9 U did BT TS od GHY dP 3ATe; aTa1aR0T H T8dT 8, a1 39 TR T g3 3 D1 Uvd SiH
STl 1 U8 831 verd fb dodl &1 v Ay 3:

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO; / Cu(OH), Td CuCOs
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4, CuO and CuCO5 / CuO Td CuCOs

Correct Answer :-

« Cu(OH), and CuCO3 / Cu(OH), Td CuCO3

14) Choose the incorrect property about colloids. /

PIAT5S & Sfad Torerf &1 o= He|
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1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIAZSA B HU S b e ST §, OId dob b I8 Xid Ta] SIS feam oirar g, Tt
HIATSSd (e HTht RR B 81

2. Colloidal particles are not visible to the naked eye. /
HITSS HUI A Sl Bl s T8 4d &

3. The size of colloidal particles lies in the range 1077 =107 ¢cm /
HIESA PN BT HHR 107 —10-5 T, BT FHTH Bl 5

4. A colloidal solution is homogeneous in nature /

TS SRS [add Upid & Joig g1 g |

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TF HlAEsd [dagd Ubid H Toird g1 g

15) Identify an isotope used as a tracer to detect the blood clot in human body /

HE TR § Yo & YFb BT UdT T & (8 T TR & 0 § TY 811 aTal T
RIS I Ugar He|

1. Uranium — 235 /?{Qﬁm —235
2. Todine -131 / SIS — 131

3. Sodium — 24 / ASTH - 24

4. Cobalt — 60 / BIFTET — 60

Correct Answer :-

« Sodium — 24 / AfSTT - 24

16) The product formed when iron reacts with steam is /

Wi 3R aruy SfHfhar A 991 911 SIS @
1. FeO
2. FeH

3. Fe203

4. Fe304

Correct Answer :-
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17) The role of decomposers in the ecosystem is /
uTRfRufa®! a3 | srqaed! Bt YfieT gt §
1. They do not act on organic compounds. / 3 HEHD TIfH] IR aﬂtfﬂﬁam?n

2. To convert inorganic materials into simple forms. / PSP Uerdf & TR T § giafdd
DA

3. To convert organic materials into inorganic forms. / FIEHD Uerdf @l oS Ul §
gRafdd BT

4. To convert inorganic materials into organic compounds. / 3fTal-d UGS T Paf-d ! |
gRafdd FHRTl

Correct Answer :-

« To convert organic materials into inorganic forms. / FIa-d Uerdf ol feTdHe wul §
gRafdd S|

18) The lightning arrester helps: /

afsac@rsem e 9 o geg o1 8:

1. To store the electric charges at the time of lightning /
ASd & THY faggd 3ol &l GURId B H|

2. Dissipate the electric charges in to the atmosphere /
faqga smaxl »l agHed d ®ieq Hl

3. Avoid the production charges on the clouds /
el o STz & SAGA J Fa T |

4, To transfer the electric charges to the ground /

faqga smax &1 Y ¥ RiEaRd o+ J|

Correct Answer :-

« To transfer the electric charges to the ground /
faqga sma=ll &1 Y # FaRd oA H|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /
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30 fet & e wdA | i A 10 9 & 1w 5 91 & o9 g & wanT & fraiame vl
oot fagga Sorf &1 @ua gidl 82

1. 15 kWh

2. 150 kwh

3. 15000 kWh
4, 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgSO,4.7H,0
[Atomic masses: Mg=24u,S=32u,0=16u, H=1u]/
MgS0,.7H,0 & A SHIE GHHH DI 0T B
[URHIV] gdHTA: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4.198u

Correct Answer :-

« 2461

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dgo A el grt o WR Te Huifea aodl & 91 uR wiielt g ot 8 1 Meht 3t wfas
Sl g1 U § 399 uRafid g1 it 8:

1. Only Heat energy / Had AT SHoll
2. Kinetic energy for the wooden board /?‘lﬁ% CIRED %‘1 TSt ol

3. Only Sound energy / Had @i Foll

4. Sound and heat energy both / €31 3R AT SHuil gl

Correct Answer :-

« Sound and heat energy both / €&~ 3R FEAT Hull gl
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22) Ipa sunny day, when the atmospheric temperature is 37 0C, the temperature inside a car,
which is parked on an open ground is: /

TS YU 91d f& o, 99 argasera arvdH 37° JfRmaw g 8, @ T SR & 3R BT
AU, St go B d @It g, A=t gim:

1. Greater than or equal to 37°C / 37°C o RIER T Y
2. Equal t037°C / 370C & SRT&R

3. Always greater than 379C /379C ¥ 3ff¥m

4, Less than 37°C / 370C 9 &H

Correct Answer :-

« Always greater than 37°C / 370C ¥ 3w

23) In a filament bulb the electrical energy is converted into: /

w fhamic ged (dd 9e9) A fagga Sl &) 3qd ufvafda foar s 8:
1. Chemical energy / IR Sl

2. Only heat energy / Had ST Sl

3. Only light energy / Had YD Sl

4, Light and heat energy both / UhIRI 3R ST Sl gl

Correct Answer :-

« Light and heat energy both / Yh IR 3R ST Sl gl

24) What is the valency of Carbon in Methane? /
WA & BT D1 GAISIDHdT fobat g2

1. ValencyofC=2/C5|5°fﬂ"ChWT=2

2. Valency of C=1 / C P! HASIHl = 1

3. Valency of C =4/ C P! TISlndl = 4

4, Valency of C =3/ C &I HIolehdl = 3

Correct Answer :-

« Valency of C =4/ C @ Il = 4

25) Which among the following is a mixed anhydride? /
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Frafafea o 9 w1 ue fUfda Tessss #2
1. CO,

2. N,Os5

3. S0,

4, NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
Frafefeaa o 9 = sFTe YeRuT & forg foi=or Sura =18t &2

1. Chemical method / XA fafdl

2. Fumigation / ?-Eﬂ

3. Plant products like mineral oils / Fiol I SR UTey TS

4, Cultural method / m fafdr

Correct Answer :-

+ Cultural method / W fafr

27) Which of the following is a biotic component? /

fFraferfad # @ oH-91 v Si9e gcs 82

1. Air / dIg
2. Water / oIc]

3. Soil / THE!
4, Living things / STifad a¥xq¢

Correct Answer :-

« Living things / Sifdd I%Y

28) Which of the following is a chemical effect of electric current: /
e 9 & w1 fagyga UaIe &1 NS U9E §:

1. Producing a magnet using electric current /
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fdggd UaTg &1 YA b U Job el Bl

2. Producing heat in an electric kettle /
Teh gelfareed dbelail H GTHT S BT

3. Producing light using electric bulb /

foTelt b Sod BT ST D UBT I B
4. Production of Hy and O, by passing current through water /

T § YRT YaTed BB Hy 3R O, BT TG BT

Correct Answer :-

« Production of Hy and O, by passing current through water /

U § 4RT UaIRd BB Hy 3R Oy BT TG HAT

29) Name the property of the components used for separating salt and camphor. /

THE 3R YR P 31T B & T YRT fohd |1+ a1t et & qured garsd|
1. Using separating funnel /QWWWW

2. Magnetic separation / 7gj,®|<:bﬁ|€vl PREERW

3. Sedimentation / 3{ddlg-

4, Sublimation /wafcrm

Correct Answer :-

» Sublimation /GT‘EECCHT'H

30) Discoveries, inventions, laws, theories are all related to the ./

i, srfasn R, faw, Rigia wi A Hefta §1
1. ease in daily living /m\?ﬂ?ﬂﬁ ST

2. study of science / a3 &1 3eT

3. luxuries of life /\—rﬂﬁlq%mﬂ:[

4. satisfying human curiosity / ATHAIT TSIRIRIT &1 HY HRAT

Correct Answer :-

« study of science / 1O &1 3fema
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31) Not only formative but also summative assessment can be conducted
through: /

9 Had FAaiTE®, afcs IS sitha Y e & aregw O denferd
oo oI gwan g:

1. Homework / W
2. Question and answer sessions / U4 3R IR I
3. Projects / a3

4. Self-evaluation of teachers / TR1&feh[ T E—W

Correct Answer :-

« Projects / pire EIeh)

32) The drawback of Case Study method is that it does not lead to a: / &4-

wetfifUsrgugfdag__ uem gl ol gl
1. Generalization / STHATIIHROT

2. Conclusion / Fspy

3. Categorization / GBI

4. Assimilation / THHIdD U]

Correct Answer :-

. Generalization / GTHRIIGOT

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / fFrafafed # § &9 W} gad vd amue qegie (RiE)
P faRvar 18 82

1. It helps the teacher to learn about the existing concepts of students. / dg SHEI DI

HiS[eT SURUNat o IR & S H Riefe o1 Wil Hal gl

2. It involves more frequent tests and examinations. /Eﬂﬁ GRIISIR qﬁ&l'UT G?W
Tems gfdfrd gt |

3. It involves repeated assessment of the same parameter. / ii*HEI' U élr HIHQUS &l

IR-SR 3T IrRferd gidl g
4.1t is a school-based evaluation. / g Uch faeTe-amenfed W %I
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Correct Answer :-

. It involves more frequent tests and examinations. / sﬂﬁ TR 1ZIﬁé.’;I'UT G?IT
I Fiwferd giat |

34) Which of the following is not a scientific question? / [BEINIEECE K ARkl

TS af® Uy 8 82

1. What is the density of water? / U] &7 99 fod %?

2. Why can we not see in the dark? / TH G{‘ER' 'Ef EPZﬁ :I_E»pfa@ W %?
3. What is meant by a secular republic? / YHFRU& 0T T T 31 82

4. Why is the colour of sky blue? / 3{TETRT BT T el T 82

Correct Answer :-

« What is meant by a secular republic? / w:ﬁ%f?-a&‘f Ul HT =T 3‘[21: %?

35) A formal event where multiple experts deliver their speeches is known

as ./ U SNUTI® YT SIgi Ps A2y 8[U4 HIyurdd s,
9§ 1 STl 2 |

1. Laboratory /W
2. Symposium / BRIk

3. Exposition / PG|

4. Workshop / BT

Correct Answer :-

« Symposium / Tt

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg &HI "AH

w1 8, O yRa § ehifasH-smenfya RRiem &) sem & e faviy v ¥ yRifas wan
T 3T TT UT?

1. ERS2
2. EDUSAT

3. TechEdSat
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4. ATS-6

Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /

Sarfafay Tewwur &1 @ 3 g 82

1. Crossing between different varieties of plants. /
Uil & fafte ueR & e Jovar (i)

2. Crossing between different genera. /
[EEEEIREAECRCAGINCAISL)

3. Crossing between genetically dissimilar plants. /
STGIRF U § s diell & dter Yo (BIR)

4. Crossing between two different species of the same genus. /

U 51 9= & &l T4 Ueiiadl o sitd SRl (ShIkif)

Correct Answer :-

« Crossing between different varieties of plants. /

el & fafts ueR & o Tl (HiRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable?/Wm%mulﬂﬁmﬁﬁwmaﬂﬁ%mm
D] P TGS dT gial &1 D& § fagm Raret grT fagma & Rraror &1
e H3 & forg, Fafafea d 3 o4 a1 sugad 781 82

1. Parents’ view of the teacher. /ﬁTW & ATdI-fodn W?@ﬁml

2. Performance report of the students in the subject. / favg o B &l Hd-‘l(l"'l

ROIC|
3. Students’ feedback on the teacher. /ﬁ%ﬁﬂﬁﬂﬁml

4. Other school’s opinion of the science teacher. / 3 foemadl ot o s &

IR H M|

Correct Answer :-
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« Other school’s opinion of the science teacher. / 3= fagreral & fag Rige &
IR T

39) The factor that does not influence the formation of winds is: /

arg fAafor st guifaa | #3A aren $R A 3:
1. Presence of mountain ranges / qdd PIES S Ul
2. Presence of seas and oceans / Fﬂf&}f 3R HEITR & Iufyfa

3. Uneven heating of the atmosphere in different regions of the earth / q%a°r & fafs &= o
dIdTdRUT ] SHFH dIU-

4. Rotation of the earth / qzaﬁwqph

Correct Answer :-

« Presence of seas and oceans / ?IH_&;T 3R AR & SufRUfa

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

w9 fHt faRiv Wdg WR 1000 <G T a6 YA gidT 8 df 39 Wdg UR T aTaT ga1d 10 Pa Ul
ST 8, °f 96 VAN Hag &7 &A% d haT g

1.0.001 m?
2. 1000 m?
3.100 m?
4.10 m2

Correct Answer :-
« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

TR T3t P, Q, R Td S & Tifer shH=: 10 i/, 36 Bl e, 18fmit/der ok 301t/a 31 fpa @
aegeil @t fa T 82

1.RandS/RUTIS

2.PandR/PTIR

3.Pand Q/PTIQ
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4,QandS/QUAS
Correct Answer :-

« PandQ/PUTAQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

A UgaH @1 aTd fara-t arR 20 el A Are fRAfT &) uR HRdl |2
1. 10
2. 20
3.40

4. 60

Correct Answer :-

+ 40

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s?)/

TS g 100 W & FHars A RIS S1elt 81 e B YA 9 ug= § foba=m 99 @1 (g = 10m/s2)
24/5s

1.
542s

3. 20s

4, 25s

Correct Answer :-

44) Amount of energy transferred from one trophic level to the next is /
TS QTP TR A 3T NP R & RIFEARd Sell STaET___ gidi 2|

1. 5%

2. 20%

3. 15%

4. 10%
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Correct Answer :-

e 10%

45) The acid present in Rancid butter /
Fargper et T & SOfRe o BT 2

1. Butyric acid / 5’{%&35 3T

2. Acetic acid / m 3T

3. Lactic acid / Qifded 3

4. Formic acid / BIH® 37

Correct Answer :-

« Butyric acid / a{%ﬁ? ST

46) In an electric motor, the energy transformation is from: /

e firggd HieR #, St uRad e g &

1. Magnetic energy into electrical energy / ﬂaaﬁﬂ ol Pl ﬁ’c&ﬁ ol #
2. Mechanical energy into electrical energy / TifF® Sl 1 iaqu Soll H
3. Electrical energy into magnetic energy / faggd el &1 dae i Sl 4

4. Electrical energy into mechanical energy / faggd Sl 1 @ifie SHaf o

Correct Answer :-

« Electrical energy into mechanical energy / ﬁ?{ﬂﬁ Il &1 ifAE Soll A

47) CANCELLED

Thick layer of fat called blubber is found in: /
SR ATHP 91 S HIKT IRd §76 URA &1t &
1. Whale /%ﬁ

2. Polar bear / ﬂ?ﬂﬂ HIL,

3, Camel / 3¢

4, Shark / ¥

Correct Answer :-

« Whale /%?r
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48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

3TEed UATSD i Fid § SR 4 7l ) |TE FHvd & |

1. They transfer energy to the next trophic level in the food chain. /

I T YT B AT NVl TR W SHoll RIMTARd $Hd gl
2. They are also called as saprophytes or reducers /

38 gaoiid! a1 TYHRS Ht HaT i gl

3. Decomposers are also scavengers and they clean the earth. /
3gee AHTSIE H Bl § SR 3 gedt & I Hd ] |

4. They help in recycling nutrients. /

J U JAZIeHUl & 7S R o

Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /

J T S H AT NPl TR W Sl RIFIGRd Ha & |

49) Which of the following is not a child-centred classroom? / fFrafafaa 7 9 s=-0

Tel-P i BT e 82

1. Teachers promote collaboration in learning / fRrefen HTTH o Tgai &l deldl
gl

2. The teacher is a facilitator instead of an instructor / TRT&/@® Uh PIRAEY & IO
U H<aID

3. The teacher decides content, instruction method and assessments / Rrern WITI"}ﬂ,

e fAfY eI sirpa &1 R BT g |

4. The students have a choice to pick assignments and decide assessment criteria /
BHEI & URT SATETHE T 3R Jedih AFGS 0 63 &1 [dhed g

Correct Answer :-

« The teacher decides content, instruction method and assessments / fRrer® W'l:l‘;ﬁ,

e f3fY 3R 3nped &1 Avlg HRar gl

50) Which of the following wastes is not bio degradable? /

frafafaa # ¥ S19-a1 rufdee S Ay a1 S saw i 81 82
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1. Vegetable peel / ool o feocia
2. Milk sachets / GY & e

3. Cow dung / TTIT CIRIIER

4. News paper / MdR

Correct Answer :-

« Milk sachets / q¥ & Udhc

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / fafafea a9 DI AT A E@W, &ﬁﬁaﬁuﬁ
TP BT Sgud AT SITaT 82

1. Experiential learning / S{JHdTHP 3T

2. Collaborative learning approach / TedNTEHD HTH ef¥hIu
3. Analogy strategy / HIeRY BB

4. Concept mapping / RIGT< AHREAT

Correct Answer :-

« Concept mapping / RIG T HIHE0T

52) Which of the following can help the students to learn science through kinesthetic

movements?/mﬁﬁﬁqwaﬁmmﬁ%mmﬁﬁﬁﬂmﬁ
¥ Heq HY Tl 8?2

1. Written test / foTRad USt&f
2. Debate / dTg-fddig
3. Drama / dIch

4. Quiz / SEIGR]|

Correct Answer :-

« Drama/-Ich

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

Tfe foreft avg Y YT Wiy SR rade guur & Ipdl & Hg | WM odT 8, o DY &1 yopfa gifi:
1. Real, enlarged and inverted /W, HFW@HQHB@)[
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2. virtual, diminished and erect / \HT'H'I@[, Wﬁlﬁ@@ﬁﬁ
3. Real, diminished and inverted / qlmfaw, {-i@i;ld Q_d Jeel
4, Real, diminished and erect/ aRafdd, A ferd Td el

Correct Answer :-

 Real, enlarged and inverted /WW, Gfﬁ-laﬁjﬁ@ Il

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftr emg vt & <l 1 SrerT-SrenT #E § Hig F smazgwdar gkl 31 Fufafea & 9 5 g #t
T 3fPp SR gl 82

1. Child / o<l

2. Infant/ﬁlﬂ

3. Man /Y=l
4. Woman/tl'%?ﬂ

Correct Answer :-

. Infant/m

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 P T Tdg UX ATHG: 100 N BT 9 AT ST & | Jdg U= o4 91el ga1d 8:
1. 400 N/m?
2.40 N/m?

3. 4 N/m?
4, 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /wﬁrwmmﬁﬁaﬁa‘rumﬁwmﬁﬁ
DI B IET 7, I ¢ Wi gd BT AT fob:

1. Investigate ideas / TRl 1 Sig H
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2. Development of models of inquiry / ST/ & gfaa (Iﬁ'?;ﬂ) CARCCARGERY

3. Observe phenomenon keenly / YCHI G| S dl 3|
4. Frame questions / I YUY IR B

Correct Answer :-

. Observe phenomenon keenly / T 1 S dl I |

57) Which of the following would not promote active discussion? / rafafaa o

A DI Afepg gaf Bt Sgrar T81 ¢m?
1. Selecting topics from upcoming tests. / AT URI&0T ¥ fawl T o= =T |

2. Summarizing ideas with the help of learners at the end of a discussion. / EEIcY
3id H RiamfigT o1 Fgradr A fauRl o AR B

3. Acknowledging learners for responses. / ufdfeear & fag fRremfal &t TeR
PR

4. Encouraging questions as well as responses to each other’s questions. / Tl &l

IR d BT Td 1Y &1 Th-GaR o U4 BT S/ardl o7l
Correct Answer :-

« Selecting topics from upcoming tests. / SIRTTHT URI&OT I fawl T =8 H=T|

58) Which of the following statements is false with respect to scientific theories? /

A Rigial & ey # fAufifea 3 O o9 a1 sy= Tea g2

1. A theory must be tested with rigour. / Tch Jgid Bl cedl & 1Y GI&0T fpdT ST
GlIEHY

2. Theories must follow observations. / RIGIdl BT U&UT BT UTa= BT BT

3. Theories may be expressed as an equation. / I%@Ial Cal Uh e & TUH
S fordT ST Wb B

4. Predictions of theories must be reproducible. / I%I@I?l | b1 YiT=TaTorT 3aeg
¥ Y Jedigd gt a1fgu|

Correct Answer :-

. Theories must follow observations. / RIGIdl &1 U&ION T U BT IR




59) A scientific theory cannot be expected to: / Th 3311?@ Rrgiad 9 3ruem Tsl
P ST Aol b -

1. Predict all outcomes / FHI TRUTH T Wﬁ |
2. Resist falsification / IHIDH U] B Ry Y|

3. Receive questioning / Uil I U B |

4. Change with time / HHI & Y m |

Correct Answer :-

. Predict all outcomes / FHI GRUMA] &1 l;LdICjHI"I A |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

Y A Imafe Ide! & Sifa vt | frgh srefia it @ a3t YT SrusTss 81 Sl 31
39 UHTT P I3RR H3A F e arr=a: fw uerd &) st o frarar sar 82

1. NaOH

2. Mg(OH),
3. N212CO3
4. CaO

Correct Answer :-

« CaO
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